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#include<bits/stdc++.h>

using namespace std;

#define mem(a,b) memset(a,b,sizeof(a))
typedef long long LL;

typedef pair<int,int> PII;

#define X first

#define Y second

inline int read

int x=0,f=1;char c=getchar();

lisdigit(c c=='-"')f=-1;c=getchar();
isdigit(c)){x=x*10+c-'0"';c=getchar();
x*f

const int maxn=2000010;
int T,n,almaxn],m,ansl,ans?2;
char s[maxn];
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bool judge(int index

int have=0, res=0;
int i=1;i<=m;i++

i<=index && alil==1)have++;
have)have- -, res++;

have== ans2=max(ans2,res); ;
’
int main
T=read();
T--
n=read();

m=ansl=ans2=0;
scanf("%s",s);
int i=0;i<n;i++

Slil=="2" || slil=="3")ansl++;

al++ml=s[i]-'0";

int L=1,R=m;
R-L>

int mid=L+R>>1;
judge (mid) ) L=mid;
R=mid;

judge(L);judge(R);
printf("%sd\n",ansl+ans2);

B.Classical String Problem
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#include<iostream>
#include<cstdio>
#include<algorithm>
#include<cstring>
#define 11 long long
using namespace std;
int read

int k=0,f=1;char c=getchar

.
’

;1isdigit(c);c=getchar c=="'-") f=-1;
;isdigit(c);c=getchar k=k*10+c-'0"; k*f;
int n,m,k;
char s[2000005],str[5];
int main

scanf("%s",s+1);
n=strlen(s+1
m=read();
k=1;

int i=1;i<=m;i++

’

// cout<<k<<" ";
int x;
scanf("%s%d",str,&x);
str(O0]=="A"

printf("sc\n",s| (k+x-2)%n+1

.
’

x>0
=(k+x-1)%n+1;

~
Il

k+n+x-1)%n+1;

C.Operation Love
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#include<bits/stdc++.h>

using namespace std;

#define mem(a,b) memset(a,b,sizeof(a))
typedef long long LL;

typedef pair<double,double> PDD;
#define X first

#define Y second

inline int read

int x=0,f=1;char c=getchar();

lisdigit(c c=='-"')f=-1;c=getchar();
isdigit(c)){x=x*10+c-'0"';c=getchar();
xX*f;

const double eps=1le-10;
struct Point

double x,y;
Point
Point(double 1,double 2):x( 1),y( 2
Point operator - (const Point&s) const Point(x-s.x,y-s.y);
double operator * (const Point&s) const x*¥s.y-y*s.x;
double 1len X¥x+y*y;

a[50];

typedef Point Vec;
double dis(Point a,Point b

a-b).len();
int T;
int main
T=read();
T--
int left=0;

int i=1;i<=20;i++)scanf("slf%slf",&al1i].x,&al1].y),ali+20]=ali];
int i=1;1i<39;i++

fabs(dis(alil,ali+1])-81.0)<eps
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// printf("here:%lf %lf\n",a[i].x,a[i].y);

fabs(dis(ali+1],ali+2

left=1;

-36.0)<eps
alil-ali+l])*(ali+2]-ali+1
fabs(dis(ali+l],ali+2])-64.0)<eps
alil-ali+l])*(ali+2]-ali+1

left=0;

left)puts("left");
puts("right");

0;

D.Points Construction Problem

ugd
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o
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#include<iostream>
#include<cstdio>
#include<algorithm>
#include<cstring>
#define 11 long long
using namespace std;
int read

int k=0,f=1;char c=getchar
;1isdigit(c);c=getchar
;isdigit(c);c=getchar

int T,n,m,ans|[105];
void pr(int x

int sum=1;

=='." f:-l;
k=k*10+c-'0";

>0) left=0;

>0) left=1;

k*f;
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printf("1 1\n");
sum==x .
int i=2;i<=8;i++
int k=1;k<=i-1;k++
sum-++;
printf("%sd %d\n",i,k);
sum== g
int k=1;k<=i-1;k++
sum-++;
printf("%sd %d\n",k,i);
sum==x o
sum++;printf("%sd %d\n",i,1);
sum== c
int main
int sum=1l;ans|1]|=4;
int i=2;i<=8;i++
int k=1;k<=i-1;k++
Ssum++;
ans|sum/=ans|[sum-1|+2*(k==1);
int k=1;k<=i-1;k++
sum++;
ans|sum|=ans|[sum-1|+2*(k==1);
sum++;ans|sum/=ans|sum-1];
T=read();T;T--
// for(n=1;n<=50;n++)
// for(m=1;m<=200; m++)

n=read();m=read();
n::

m==4) printf("Yes\nl 1\n");
printf("No\n");

’
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m&
puts("“No"); ;
m<ans|n
puts("No"); ;
m>n*
puts("No"); ;
n*4==m
puts("Yes");
int i=1;i<=n;i++
printf("%d %d\n",i,i);
int fl=1;

int i=1;i<=n;i++

ans|il+(n-1i)*4==m

puts("Yes");
prii);
int j=1;j<=n-1;j++
printf("%sd %d\n",-j,-j
f1=0;
ans[i]+(n-1)*4-2==m
puts("Yes");
prii);
int j=1;j<=n-1-1;j++
printf("%sd %d\n",-j,-]j
puts("0 1");
f1=0;
Il o
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#include<algorithm>
#include<iostream>
#include<cstdlib>
#include<cstring>
#include<cstdio>
#include<vector>
#include<queue>
#include<cmath>
#include<map>
#include<set>
#define LL long long int
#define REP(i,n) for (int i 1; 1 <= (n); i++)
#define Redge(u) for (int k h[u],to; k; k = ed[k].nxt)
#define cls(s,v) memset(s,v,sizeof(s))
#define mp(a,b) make pair<int,int>(a,b)
#define cp pair<int,int>
using namespace std;
const int maxn = 200005,maxm = 100005;
LL INF = 10000000000000011;
inline int read
int out = 0,flag = 1; char c¢ = getchar();

while (c < 48 || ¢ > 57){if (c == '-') flag = 0; c = getchar();

while (c >= 48 && ¢ <= 57){out = (out << 1) + (out << 3) + ¢ - 48; ¢ =
getchar();

return flag ? out : -out;

LL Almaxn],n;
LL ans = 0, f[maxn];

int main
int T = read();
while (T--
n = read();
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REP(i,n) Ali] = read();
sort(A + 1,A + + n); ans = 0O;
int i =1; 1<n; i += ans += A[i + - Alil;
intm=n/ 2;
f = INF;
f = A + A - A - A :
n > f = A + A + A - A - A - A ;
int i =4; 1 <=m; i++
int t =1 * 2;
flil = min(f[i - + Alt] + A[t - - Alt - - Alt - ,fld
= + Alt] + Alt - + Alt - - Alt - - Alt - - Alt - :

printf("slld\n",ans + f[m]);

F.Fraction Construction Problem
HRN

00 $a$,$bs,0 000 $c$dsdsi$essf$00 O $\frac{c}{d}-\frac{e}{f}=\frac{a}{b}$[]
0000[$d,f<b$

HEN

solved by fyh

O0000Qg$\frac{c}{d}=\frac{e*b+a*f}{b¥f}$0 00000000 OO%$b$OOOODOOO0O
O $d<b$[]

O00000000%$b$00000%s00$b$0 000000000000 0OSSO00DO0O0ODO0O0O
g

O0%b$00000%as0sb$0 0000000 %es,$fs0 01000

O00s$b$0 000000000000 O$b=k$0 O $fk$O
O O$\frac{e*b+a*f} {b*f}=\frac{ef+a}{b}s.0 000000000000
O $(ek+a)\equivO\pmod{b})$J0 00000 OO0 OODOODOO$k$O O $d$0 O

O0s$b$000000000$b=Hk$00O$Mks0 000D O OO O0O0OO0OOO0OO0ODO0OOODO
goboaonoo

#include<bits/stdc++.h>

using namespace std;

#define mem(a,b) memset(a,b,sizeof(a))
typedef long long LL;
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typedef pair<LL,LL> PII;
#define X first
#define Y second
inline int read
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int x=0,f=1;char c=getchar();

lisdigit(c c=='-"')f=-1;c=getchar();
isdigit(c)){x=x*10+c-'0"';c=getchar();
x*f;

const int maxN=2000000;

int phi[maxN+10],prime maxN+10],isn|[maxN+10],F maxN+10],1len,A;
LL pre[maxN+10];

bool vis[maxN+10];

void init

phi[1l]=1;
int i=2;i<=maxN;i++

lvis[i])prime[++len|=1i;
int j=1;j<=len;j++

i*prime/|j |>maxN ;
vis|[i*primelj||=1;
isn{i*prime|[j | | =primelj];

i%primelj|==

1

int i=2;i<=maxN;i++

vis|i
int tmp=i;
F[il=1;

tmp%isn{i|==0)F[1i/*=isn[i],tmp/=isn[1i];
// for(int i=2;1i<=100;i++) printf("%d %d\n",1i,F[1i]);

LL gcd(LL a,LL b b==0 7 a : gcd(b,a%b);
PII exgcd(LL a,LL b)//00ax+by=gcd(a,b)

'b make pair(1,0);
PII tmp=exgcd(b,a%b) ;
make pair(-tmp.Y,-tmp.X-(a/b)*tmp.Y);
LL modeq(LL a,LL b)//00ax=1(mod b)

LL x=exgcd(a,b).X;
x%b+b ) %b;
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int main

init();
int T=read();
T--

LL a=read(),b=read();
==1 || (!vis|[b] && a%b!= printf("-1 -1 -1 -1\n"
lvis|b

’ ’

printf("slld 1 1 1\n",a/b+1,1,1,1);

’

LL k1=F[bl,f=b/F[b];
f==1)kl=isn[b], f=b/kl;
LL GCD=gcd(kl,f);
// printf("%lld %lld\n",k1,f);
a%GCD ! =

printf("-1 -1 -1 -1\n");

’

a/=GCD; k1l/=GCD; f/=GCD;
LL e=modeq(kl,f);
e=((e*¥(f-a))%f+f)%T;
// printf("a:%lld k1:%lld f:%lld %lld\n",a,kl,f,e);
le)e=T;
printf("slld %lld %lld %lld\n", (a+e*kl)/f,k1*GCD,e, f*GCD) ;

G.Operating on a Graph
oo
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#include<iostream>
#include<cstdio>
#include<algorithm>
#include<cstring>
#include<set>
#define 11 long long
using namespace std;
int read

int k=0,f=1;char c=getchar();
;1isdigit(c);c=getchar c=="'-"') f=-1;
;isdigit(c);c=getchar k=k*10+c-'0"; k*f;

const int N=2000055;

typedef pair<int,int> P;

int T,n,m,q,head|[N|,nextt/N|,to/N|,w/N|,num[N];
int fa[N]|,size[N];

set<P> s|[N|;

P adNJ],now[N]I;

int find(int x fa[x ! ==x?x:fal[x/=find(falx
int main

.
’

T=read();T;T--

n=read();m=read();
int i=0;i<n;i++
falil=1i,sizelil=1,num[il=1;
int i=1;i<=m;i++

int a,b;
a=read();b=read();
a>b) swap(a,b);
slal.insert(P(a,b));
s(bl.insert(P(a,b));

g=read();
int i=1;i<=q;i++

int x=read();
x!=find(x :

set<P>::iterator it,itt;

int k=num|[x];

int cnt=0,tot=0;
it=s|k].begin();it!=s[k].end();it++
now|++tot|=*it;
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int j=1;j<=tot;j++

k=num/|x];

int y;

y=find(now|[j|.first);
y==x) y=find(now|j|.second);
y==X ;

int kk=numly/;

falyl=x;

int cnt=0;
s|k].size()>s[kk].size

itt=s|kk].begin();itt!=s[kk].end();itt++

find(itt->first)!=x||find(itt->second) !=x
ad[++cnt|=*itt;

num| x| =kk;
itt=s[k].begin();itt!=s[k].end();itt++

find(itt->first)!=x||find(itt->second) !=x
ad[++cnt | =*itt;

int K=1;K<=cnt;K++
snum(x!].insert(ad[K]);

int i=0;i<n;i++

s(i].clear();

int i=0;i<n;i++

printf("%sd ",find(i));
puts("");

L.Problem L is the Only Lovely Problem
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